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The figures in the margin indicate full marks
Jor the questions

Answer either in English or in Assamese

1. Answer in brief/Choose the correct option of the
following : 1x10=10
oo PR e ter fim/wm R IR
Sforear -

. (a) ‘‘According to Plato, forms have objective
realities.”’ Is it true?
“CoRPR TS AT I2S STa1 &g 77 (XN
oA ?
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(2) , (3]

(b) According to Aristoﬂe, God is formless (g) Is Berkeley’s idealism subjective?

|
matter/matterless pure form. ! TP SR TS T ?
WRETR o R Ty Wﬁﬁ%ﬂ o/
TMIRE % SR | (h) Give one example of primary quality.

‘ 6 B8R <6 Tmraq |
{c) Of whom the theory regarding the relation !

between mind and body is known as ‘the

th £ int PR (i) What is known as the theory of knowledge of
eory of interactionism’?

Kant?
W U ™ TERE IR THNOR
’ BT TSIMCH! T T ?
“oRe T3P B A & T 2 : AR
. é, (i) How many categories of knowledge are there

(d) ‘“Monads are indivisible, self-active and
spiritual units.” Is it correct?

‘AR (TR SR, TERe o i wﬁmwaﬁe{@?
GFF 1”7 GO OFCA 2 .

according to Kant"

Lo 2. Answer the following questioﬁs : 2x5=10
(¢e) What is the meaning of the term ‘tabula
rasa’? , OO P T f
Tabula rasa’ % 9« 3 7 ' (a) According to Aristotle, what are the two

fundamental categories through which we can
explain the whole world?
aRE*o TCO T woew P 1 (AR ool

Porei F1F R 7 R RorA ‘Natura TS =i I IR < 2
Naturans’ 31 siftf¥e IRz 2
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(f) To whom Spinoza has designated as ‘Natura
Naturans’ as a prime cause of the universe?



(4)

(b) What are the two evils according to

(c)

(d)

{e)

_ Augustine?

SRR TS 1R AT OIS I e 1 3 0

“According to Spinoza, out of the infinite
numbers of qualities or attributes of God, we
are able to know only two of them.”” What are
these two attributes?

“PATIETR WCS T W8 B ReTe it Wi
1 GRCR WA T 1 % B 1 R R 9

What is the meaning of ‘esse est percipi’?

‘Esse est percipi’d 9 ¥ 2

What are the two forms of sensibility?
SR S 61 R 59

3. Answer any four of the following questions : 5x4-=20

T 2 R e wiRer e g -

(a)
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Explain briefly the concept of ‘Freedom of
Will’ of Augustine.

SRR W AT R R
91 :

( Continued )

(b)

(c)

(d)

(e)

{f)

22A/351

(5)

Elaborate Descartes’ theory of ‘mind-body
dualism’. _

A -’ TR SEHR RS
STAT F0 |

Explain  ‘pre-established harmony’ of
Leibniz.
e o AP TeTRM Iram =40 |

Write a note on primary quality and
secondary quality of John Locke.

W AT T 89 W ¢ @R Reew o1 G
o

Elaborate briefly Kant’s concepts of Space'
and Time as explained in his ‘transcendental
aesthetic’.

IR (SCYS] ‘transcendental aesthetic’S CP
HF IR R e 3t sRe ot Ry
YT I/ I

How does Kant synthesise rationalism and
empiricism in his critical theory? Explain.

WD (SR Roramwe /am we ARwerm
T AL NG FRE 2 IR A
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(6) f (7)

4. Answer any four of the following questions : () Critically discuss Hume’s “‘sceptical doubt’.
10x4=40 .
T PR R @ wifkeR e fan R Sremaft v’ RoRTs S 1 |
a) Critically examine Plato’s doctrine of fi ' '
(@) or ideasy ©'s doctrine of forms (g) How does Kant establish relation between
. . . ~ sensibility and understanding? Explain.
PR A YR TR ﬁﬂ?i?ﬁ‘
PR 4 ' D FEI WIS HF QA - TS
o Qo FRE? I/
(b) Discuss Aristotle’s concepts of potentiality
and actuality as the two positions of form and (b) Explain Spinoza’s Pantheism as a theory of
matter. ' the relation between God and world.
ORA WF TmE P e R oREe | R WF WIS O - oy e
ORI ¥ ACRTFOR YR To1 SCHCAL I | : POATER SRR T 90 |
(c) How does Descartes establish ‘cogito ergo :
sum’ as the first certainty in his philosophy? ok k

Critically analyze.

‘Cogito ergo sum’3 (SING (TS PIAS go
oo Reet @t b =, G’ T
Reorres Rems w411

(d) Discuss the theory of Monads of Leibniz.
AR 7S SRLHT SCDA 41 |

{e) Explain Hmne’é thedry of causation.

R TR OGB! 01 T
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